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APTITUDE

DIRECTIONS: (Question no. 1 to 3) Read the following passage Fos: (¥ €& 1 @ 3) F=foiad SfEaeel & @M@ 9 ©
carefully and answer the questions given below. I U vsei & IO &

A group of seven friends Anil, Vinod, Sumit, Dilip, Indra, Firoz & fEl #1 U q9e@ o, fodie, god, Radg, 3=, B9 @
and Gaurav work as Engineer, Accountant, IT Officer, g St &9 - L, M, N, P, Q, R Td S ¥ Zii"R, THe—<,
Technician, Clerk, Physiotherapist and Research Analyst for &TE.dl. STHER, IFIREE, Fh, HEEIERNE Td RO Ciide 3
companies L, M, N, P, Q, R and S but not necessarily in the T& TX H@ &d & Wb NEWEH &I & b a8 4 %9 & '@h%
same order. Sumit works for company ‘N’ and is neither a Tl N % [T %& &1 & TG 9 oF 98 A9 TR &

Research Analyst nor a clerk. Indra is an IT officer and works for  F@| 3= T oME.&. JIHER 8 @ &9 R & o %|
company ‘R’ Anil work as Physiotherapist and does not work for  a1fwe fERSERRIRE & T8 W && FO1 & KW
company L or Q. The one who is an Accountant works for {qu @@ & &l 81 THS<<T G M

company M. The one who works for company L works as a &g L & fol@ S %1 &1l & 98

technician. Firoz works for company Q. Gaurav works for fyu %/} #tar 81 99 F9 P 3 fdw
company P as Research Analyst. Dilip is not an Accountant.

1. Who amongst the following works as accountant?

(1) Vinod @ Anil
(3) Firoz (4) Dilip
2. What is the profession of Sumit?

(1) Technician (2) Clerk

(4) None of these

3.  Which of the following combinations of person,
profession and company is correct?

(1) Anil —Physiotherapist-M  (2)Fifoz =Clerk = Q

(3) Vinod —Accountant — R (4) None of these

4. In a group of 36 persons, a total E?Nﬁ H@EBH()N%n

while 9 take cold drink but not ice-cream. |4y
persons in this group take ice-cream but not cold-@rink?
(1) 27 @ 20

(3 11 (4) 23

5. Match the pair correctly.

State
A. Uttarakhand
B. Assam

C. Tripura

D. West Bengal
(1) A-3,B-4,C-2
(3) A-3,B-2,C

A-4, B-2,,C:1, D-3

f the constitution provides for
anchayat in every state. The level of
erred under this is:

nd District level

age level only
District level only

7.¥ Jaggery is the main source of:

(1) Protein (2) Carbohydrate
(3) Fat (4) None of these
8. The black hole theory was discovered by:

(1) Hargobind Khurana (2) C.V.Raman
(3) S. Ramnijan

n

0 PDF Softygared. e

(4) FHA B T

I Tl GG BT-a 87
-FRfrmRfe-M .(2) R - & - Q

) “THRRE SR ¢ (4) T & A

ERHPR Blsme 7, 3w % A 16 fiow 7 A E o=

3944 S8BT ¥ i € afe smw-sh TEh W wE ¥ Rem

ZRp FRFHT A & Alew aw 49 &Y
(1) 27 (2) 20

(3) 11 (4) 23
St A TE AR B4

T LChIRmS
A FTIES 1. fEm
B. @W 2. PHUA
c. fgu 3.

D. ui¥aq sma 4. BRI

(1) A-3,B-4,C-2,D-1 (2) A-4,B-2,C-1,D-3
(3) A-3,B-2,C-1,D-4 (4) A-3,B-4,C-1,D-2

dfee & ST 243 B(1) Y% U0 ¥ T G4 & oA
P MAEE B 81 TH TIDE F AT @ OWH S EEri
fopan T R

(1) e wd frm &R

(2) i, qeFaett o e &

(3) &ad TMa &

(4) Faa e ®)
TS Feae g g @
(1) W= (2) FEEESE
(3) @& (4) =™ q FE &
% (D% ) @ Rrer s @) gen
(1) e G () @@ =

(4) TH. TEEX
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DIRECTIONS: The Venn diagram given below shows the
estimated readership of 3 daily newspapers (H.T, TOl &
Statesman) in Delhi. The total readership and advertising cost
for each of these papers is as below:

Newspaper Readership | Advertising cost
(Lakhs) (Rs per sqg cm)

H.T. 8.7 6000

TOI 9.1 6500

Statesman 5.6 5000

The total population of the city is approximately 14 million. The
common readership (in lakhs) indicated in the Venn diagram

9. The number of people (in lakhs) who read at least one
newspaper is:

ili 4.7

10. In a high flying aeroplane, the ink of the fountain pen
leaks out because:

1) Atmospheric pressure increases
% ENG NEERI NG

(3) Atmospheric temperature increases 4
(4) Atmospheric temperature reduces

(2) 234
(4) None of these

11. Match the following:

Eield Nobel Prize winner 20

A. Economics 1. Svetlana Alxievi

B. Peace 2.

C. Literature 3. rthur B. MeBonald
D. Physics 4 | Dialogue,Quartet

(1) A3,B4,C1,D2
(3) Al, B4, C3,D2

12. During whose ré d
Kingdom?

ilen Tsahg,Vvisit the Chalukya

iZi Kirtivarman

(2) Rumbek
(4) Wau

13.

e equator does not pass through which of the

following countries:

(1) Kenya
(3) Indonesia (4) Brazil

15. Number of diagonals in a 30 sided convex polygon will be:

@405 (2 955 (3) 818  (4) 378

s < R T A9 TEm Redh # O e wER = (o
&, ANomE. @ Rediv) qEH P FE &S Bl
% o Td RO M Mo qEER O @ [ e feEr T
3

ICE [EEEEGIU
AR (@'ITE' ﬁ) (Rs per sq cm)
4. 8.7 6000 N V
& .30, 9.1 6500
T 5.6

e FH FA e A 14 iR @
Gﬂqﬁwma@ﬁmw%- O

‘ /\0/\

#) St #9 AFH 0 GIER-F TGd &

. (2) 234
®3) (@) 3 & F3 T

TgIH ¥ WoRd I W e & o ©

T & I 2
) TdHER A 9 & o B
39438 ZgFsdd [ 96 ST &
(4)( argHEEA A9 TT ST &
11. [Freforea # gaf &%
& 2015 e JLEHR_ oot
A ardfame 1. AT TR
B. snf<d 2. UM ged
c. ufed 3. e Feiler d SR &t dpSes
D. il 4. TYNREA J99E SEAR F@ee

(1) A3, B4,C1,D2
(3) Al,B4,C3,D2

12. fred TR D A B G A AGHE @ BOAE

(2) A3, B1,C2, D4
(4) A2, B4,C1, D3

e
(1) goRe | (2) FhwEws
(3) farate (4) goifeR I
13. faw@ 3 999 T MY B T 30T T 3 ToMH B8 82
(1) “g=r (2) 9%
(3) HeTRA (4) ag
14. Freiiaiaa fra 3w & e Y @ o
Q) &= ) Hra
(3) g (4) sfi

15. 30 qomell @ I« e & Rt @ den
(1) 405  (2) 955 (3) 818  (4) 378
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DIRECTIONS: In the following number series only one number is
wrong. If the wrong number is corrected, the series get
established following a certain logic. Below the series a number is
given followed by (a), (b), (c), (d), (e) and (f). You have to
complete the series following the same logic as in the given series
after correcting the wrong number. Now answer the following
questions giving the correct values for the letter in the questions.

2 14 18 46 82 176 338
4 (@ ) ) d (e ()

What will come in place of (e)
(1) 238 (2) 338
(3) 218 (4) None of these

17. What is the “ Motto” of Olympics 2020:

(1) Live your passion
(3) Inspire a Generation

(2) One world, One Dream
(4) Discover Tomorrow

18. ‘C’ is a place which is located 2 km away in the north-
west direction from the capital Z. R is another place that
is located 2 km away in the south-west direction from ‘C’.
‘M’ is another place and that is located 2 km away in the
north-west direction from ‘R’. ‘T’ is yet another place that
is located 2 km away in the south-west direction from ‘M'.
In which direction is ‘T’ located in relation to ‘Z'?

(1) South-West (2) West
(3) North (4) None of these
i ?
19. Find the odd one out~ ENG NEERI NG
(1) FIFA World Cup (2) Ryder Cup 4

(3) Walker Cup (4) Solheim cup

20. The grant of Diwani of Bengal, Bihar and Orr
associated with:

(1) Shah Alam Il (2) Bahad h

(3) Nawab Asif-ud-Daula (4) Na ja-ud-Daula
21. Union Government appointed M d Ambassaders

for Digital India Program ecently. Whoy among

these is an author and ic

(1) Pranav Mistry
(3) Krati Tiwari

22. What is the ch al (first published first and so
on) correct of the following books?
1. Ri N borough — In search of Gandhi

er — The life of Mahatama Gandhi
son — Gandbhi’s truth
aton — Gandbhi, Fighter without a sword

atwat Jagwani
Ankit Fadia

lect the correct answers from the codes given below.

) 4,2,3,1 2 4,3,1,2
(3) 2,4,31 4 1,2,4,3

23. In a code ‘Mumbai’ is written as ‘Sostpk’ and ‘Chennai’
is written as ‘dcfmmpk’, then “bench” will be written as:

(1) mfmdc (2 tmfdc
(3) tfmdc (4) tfdmec

e Frefofad den a9 & daq o @ T el AR T
e H W H RA S 8 @ AN o Mived 9% w0 g
FA L T & AR 51 AW F A Th H@A F 999W (), (b), (0,
(d), (e) T () Ram T 81 TR I T F ATATT FA g T
T B G B A B T FHEN ol A 99 # el I

dud g ¥ R W SR B WN W 98l HF A
(e) % ©M W F M \E
(1) 238 (2) 338
(3) 218 (4)57!@3

17. Sifgs 2020 H “WA” T &;

(1) foa a) o= ) IRIE, aF I
(3) FWMER T SR (M) Fewpeat Zar

18. e Z & I 2 . B W W C W
W Rad 31 ‘R’ @& W, ‘C’ A MWor-uiEm R §

2 14 18 46 82 176 338
4 @ b)) © @ @& O

2 Bl @ YR BOM T gE wmE, W R’ @
STR-qfeEH . A g W T AR e
[, o RemA 2 Bl A Rz §,
T R ¥?
g (2) uiEm
3 (4) ¥ & FE T
O GRTAL
2544 51FA 3, T (2) TEST AW
(3) /T FW (4) Tedw 9
20. (€79 ¥R o S H A # A a8
(1) Ysfie T |l (2) TEER
(3) @ aE-IE-am  (4) TAE JoN-Ie-arr

21. ARG @R 7 T oW & § Fofeq e W 3 /Y 9
e Tt & Fgie B & FreliRee # 99 @ dew
9 i I &
(1) @ FEE (2) |aaq SFE™
O REIRGEIRY (4) Sffa wfear

22. frfefen gl A (TR SR TR @ § aRe
IED ) B STER W G A IE?
1. Red el - 3 w9 o A
2. 39 MR - T AW oift werem e
3. 3.9 e - gy
4. . g2 - ), wE e T A

T R T RS | wE S A
(1) 4,2,3,1 (2 4,3,1,2
3 2,431 (4 1,2,4,3

23. % @ #E § ‘Mumbai’ # ‘Sostpk’ &R ‘Chennai’

‘defmmpk’ fRv@T ST & @ ‘bench’ 1 I Pie F Fr @™

(1) mfmdc (2) tmfdc
(3) tfmdc (4) tfdmec
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DIRECTIONS: To answer the following question, use the RS f=fafed 9s7 #1 ITX 3 & fow Frt germmedl & 13|

information given below. i. UHYER ¥ A, B,C,DE TG F B: &H &
i. There are six persons A, B, C, D E and F in a family. i. e ¥a RALS g
ii. There are two couples in the group. ii. A C @ fyar ¥ S ey ¥
iii. As the father of C who is a doctor. iv. EC I z
iv. Eis the son of C. v. FD @& %
v. Fisthe grand daughter of D. vi. B & far F %, S AHER &

24,

25.

26.

27.

28.

29.

vii. E and F are unmarried.
24. E § I B E?
Who is the grandmother of E? 1 ¢

(1 C @ D (3) B

(3) B (4) None of these

vi. The father of F is B, who is a professor. vii. E 9 F ffgaifed § VV

Arrange the following rational members in ascending order: ~ 25. ﬁ‘:rﬁlfﬁﬁ X S Eﬁ

75 2 I
10’ -8 -3 0 _8' _
1 227 @ > 2.7 1y 23 7 5.2

-3 -8 10 -8 -3 10 -3 —8 10 -8 -3 10

-7 5 2 -7 -7 5 2
- RS © 5 0o
Given that in a standard code pattern 26. T® U% A HREH &
ABCD is coded as EFGH ABED FGH
JKLM is coded as NOPQ Y 7)) NOPQ
then RSTU is coded as: Pl RS 2R
ili WVY X (2 QPUV VY X (2) QPUV
) VVEX®E NEERI NG ) TUYSRIMAL 4) VWYY

In a certain code, ‘TEAMWORK' is LfB% FiET@E & ‘TEAMWORK’ & ‘NBFUJQNV’ T
‘NBFUJQNV' and ‘SOME'’ is written as ‘PTDL’. fow i Sl 2 8e “SOME’ & ‘PTDL’ fo@m omm 8, @ ‘PERSON’
‘PERSON’ written in that code? N SHI,Fie 7 o fomm smm?
(1) SQFNMR (2) SFQMNR (1) NSQFNMR (2) SFOMNR
(3) SFONMR (4) SQOMF (3)" SFONMR (4) SQMFNR
How many triangles are there in t ing figure? 2g. friaieaa oot Bl‘ﬂﬁﬁ B g B ®7

A

(1) 11 @ 9 1) 11 (2) 13 (3) 10 @ 9

A sphere of radi elted andhitSwvolume is 29. TH 1ﬁF‘IT, e B x %, N TAHT E'H% TRATT H® &
divided into tw rts. Oneypart s, cast into a TN wr # faewe @ Rem o ¥ w6 ww @ 10 {9
cylinder of he . and secent~a cone of the S I RAeX & o S B a g # S & AR
same helg atio of the cylinder radius to the I T g H o Re=T & B 9 % Fr B F#:r

cone rad AT BT
(2 1:3 (1) 1:43 (2 1:3
( (4) None of these () 3:2 (4) & & 3 T

kntl and Saloni are athletes. Sukriti covers a 30. GFN T W@l 0F THdle 81 g 1 Rl & g0 5 Bre
diStance of 1 km in 5 minutes and 50 seconds, while 50 3vE ¥ 9 & & Ei% daiHl S9r {& H 6 fire 4

aloni covers the same distance in 6 minutes and 4 v & qF P B AR AN TH G STH BN & oo
seconds. If both them start together and run at uniform T T @ dedt 3, @ 5 B @ B IR g e
speed, by what approximate distance will sukriti win a fea g8 & Shiae?

5 km mini marathon? (1) 200 m (2) 225m
(1) 200m (2) 225m (3) 250 m (4) 275m
(3) 250 m (4) 275m
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31. One side of a right-angled triangle is 126 cm. The
difference between the hypotenuse and the other side

is 42 cm. The length of the hypotenuse is:

(1) 168 cm (2) 189cm
(3) 210cm (4) None of these

32. Three wheels make 60, 36 and 24 revolutions per
minute. Each has a red spot on its rim, which is at the
lowest position at time zero. The red spot will all be at

this position again after:

(1) 2 seconds
(3) 4 seconds

(2) 5 seconds
(4) None of these

33. Atrain can travel 50% faster than a car. Both start from
point A at the same time and reach point B 75 kms
away from A at the same time. On the way, however,
the train lost about 12.5 minutes while stopping at the

stations. The speed of the car is:

(1) 100 km/h. (2) 110 km/h.
(3) 120 km/h. (4) 130 km/h.

34. An empty tank is connected with pipes A, B and C. A
and B are inlet pipes and they fill the tank in 6 hours
and 8 hours respectively, while C is an outlet pipe and
it empties the completely filled tank in 5 hours. Find
the time in which the tank will be completely filled if all

the pipes are opened together.
9
(2 9 ENGINEERI NG

(4) 9% hours

(2) 10i hours
11

4
3 10E hours
11

35. Probability of getting a multiple of 2 on

operdice and a
multiple of 3 on the other dice, whenflbo ice are
thrown simultaneously is:

Wi @ 2 >

6 12 36

11
% ©)

36. Mid points of the side of a

18 cm are joined to fo

ilateral trianglenof side
er triangle, whese'mid
togform a different /triangle

d indefinitely. The sum of

points are further j

and this proces ep

the perimeters hegriangles willbe:
(1) 72 cm é (2) 108cm

nae

(3) 144 (4) 172cm

If th@a right circular cylinder is decreased by

50% and i€ height is increased by 60%, its volume will
reased by:

30%

) 60%

37.

(2) 40%
4) 70%

38." A hall 50 m long and 45 m broad is to be paved with
square tiles. Find the largest tile as well as its number in

the given options so that the tiles exactly fit in the hall?

(1) 36sgmand 80tiles (2) 16 sg m and 80 tiles
(3) 25sqgmand90tiles (4) 36 sgm and 90 tiles

31.

32.

33.

34.

35.

36.

37.

38.

T B @ o qo 126 /.. B Bt o) g@d o @
e o=} 42 A B et B i &

(1) 168 H.H. (2) 189 G4

(3) 210 4. (4) T q B &

A 9} 60, 36 TH 24 FEX WifEEE T 3 T

W TF A & ol S % 7w | e
A & I SH Ry W A R e asE:
(1) 2 e (2) 5 ¥avs
(3) 4 e 4 FTHE

X

T WE T PR A 50% oqF

|
T, ‘A’Wamm&;‘ﬁ@ﬁ‘a’w@rﬁs
T
W

‘N fag @ 75 Bl @ ]

R
T #, W« e @ ¥ T 12.5 fiFe
M HX P M 2
(1) 100 ﬁ?‘ﬁ/ﬂ?& 110 6. /der

(3) 120 FFHL. /e

% G @ A B AR ¢ 3 9 Siig Rem s 2
A R EY € SARNENT YEY T B HEL: 6 He
| 31 59 B/C'g e =Y § S R gl
52?{1‘1’@1@55{%31% A TET B T

kA

R
T @ T B AR F T 9wy T
10— §& 2) 9% ge
T | AL o
AP35 A ) o7 ®

ok

(1) 72cm (2) 108 cm
(3) 144 cm (4) 172cm

AR T TN g SR B B 50 s &9
& ot ¥ SR 3Ee SUR & 60 uwd W gRk B @ Swh

%: Eﬁ 3'9% SIEGR] ﬁ ﬁ‘fﬁ' FIi?IQIEI Eﬁ aﬁ‘:ﬁ a"ﬁi
(1) 30% (2) 40%
(3) 60% (4) 70%

TH 50 m @ 45 m A AT § qHR B T & A
R U el § @ 999 98 AR H TR T S G
Tt S 6 R A § 98% TE & I Y

(1) 36sqgmaX80TEE (2) 16 sqm 31X 80 B

(3) 25sqm X0 TEE  (4) 36 sqm 3T 90 B
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39.

40.

41.

42.

44,

45.

Number of students in different specialisations in an institute ~ 39.

400

300
No. of
Students

200

100

| ] m v v v

Number of students in specialisation Il is what percent
of the total number of students in the institute.

2 1 1
1) 285 @ 283 @) 223

(4) 20%
The perimeter of a rhombus is 40 cm and the measure 40.
of an angle is 60°, then the area of it is—

(1) 100 V3 cm? (2) 753 cm?
(3) 1803 cm? (4) 503 cm?

The difference between the compound interest and the 41.
simple interest on a certain sum of money at 12% per
annum for 2 years is ¥ 1800. Find the principal sum
when the interest is compounded annually:
(1) ¥1,20,000 (2) ¥ 1,25,000
(3) ¥1,28,000 (4) None of these

ENG NEERI 0NG

Ritu had 400 mangoes. She sold 60 mangoes a
80 mangoes 20% gain, 120 mangoes at 10% gain
mangoes at 20% loss. Her net gain/loss percent is:

43 |OSO
4
None of tge
ich they bélong. ~43.

ITIES

akhruddinfAli Ahmad
S.D. Burman
Pranab Mukherjee
Govind*Ballabh Pant
A-4, B-3; C-1, D-2
A-4, B-3, C-2, D-1

1) 7%% gain 2)

3) 3%% gain (4)

Match the personalities with the
STATE
A. Uttarakhand

B. West Bengal .

C. Tripura .

D. Assam 4,

(1) A-1,B- 2 2)
, D

(3) A-1, -4 4

A m@an ilk at a certain price per Kg. and after
i it Nith water sells it again at the same price.
any grams of water he mixes in every Kg. of

ilk if he makes a profit of 25%:

) 2509 (2) 200g
(3) 1509 (4) 30g

44.

When three coins are tossed together, the probability 45.
that all coins have the same face is:

1) 1/4 (2) 1/6

(3) 1/3 (4) None of these

4

% G & Al Rl Bt § Rl @ den

400
——————— A— -—— -
No. of 300
Students -~ X - - _/g
200 y
I nom owv v \
fafdre fawg-1 § feenRiat @ d@en 9 E0|
e 1 fha wfaea R

) 23% @ 23% «25 4) 20%

@ w cm¥® &R FE@ @ BT 60° B
A FEH SFABA SR
(1) 100 V3 cm? (2) 753 cm?
(3) 1803 (4) 503 cm?
% 12% wfas (#, & W 2 af §F
R )&, §iF B <R T1800 81 8
T B AR T TR
1,20,000 (2) %1,25,000
) &A 28,000 (4) 3 q B T
TULERIMAL

U 400 <3 211 IFT 60 FH 25% B @MW T, 80
0% WH W, 120 M 10% A T AR 140 W
20% BT S=M IFF P& T/ F e &

1

(N5 % T ) 4%% I

®) 3%% Sk @) T § T T
R B 99 (09 § AW HA 61 Q@ 98 qeiead 8l
T4 Fkaa

A, TUEE 1. BEGEN STl SRR
B. U™ s 2. wq.E. g6

c. Bgu 3. e qas

D. 3@H 4. o< @9 T

(1) A-1,B-3,C-4,D-2 (2) A-4,B-3,C-1, D-2
(3) A-1,B-3,C2 D4 (4) A-4,B-3,C-2,D-1

% ARG W Fied dd u R ® g ade B ek
T O U Pt SE B X e B AR a8 25% &
A FACT & A 98 TOF . W. W F 9 o amn
o &:

(1) 250 7
(3) 150 7™

99 @ % % 99 I\ 9N 8, o o R 3 @ gm
AW H eI @ e
1) 14
3) 13

(2) 200 3
(4) 307

) 1/6

(4) 3 9§ Fi5 T
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46.

47.

48.

49.

50.

51.

52.

53.

56.

TECHNICAL (APTITUDE)

The allowable stress to which a structural member can  46. FHA gftee B q el Serors qee B e @

be subjected, is called:

(1) Working stress
(3) Tensile stress

second is constant, is called:

(1) Stream line flow
(3) Steady flow

iZi Permissible stress

A flow in which the quantity of liquid flowing per 47.

iZi Turbulant flow

The piles which do not support the load by them 48.
selves, but act as a medium to transmit the load from

T T &, e &

(1) FEHN Ufese
(3) T HfcEd

(2) AT Ul
(4) (1) s (2)

HEART &

(1) g 5ErE (2) foggea varE :?“
(3) ReR yare (4) WT waTE

T =S T AR B @ e &

the foundation to the resisting sub-stratum are known FE B % HER &
as: (1) =S o

(1) Friction piles (2) Bearing piles (3) AT U

(3) Bater piles (4) Compaction piles

A structural member subjected to compressive force 49. HEMA® W&l

in a direction parallel to its longitudinal axis is called: H‘ﬂ%ﬁ I B

mﬁmwaﬁwﬁamﬁ

%"@qﬁ

o P gAMIAY R’ew #
, e 2

(1) Column 2) Post (1) =H (2) e
@) Stanchon (@ Anyone of sbove a & Yo a4
In a Tee-Beam the breadth of the rib is equal to the: 50. = ﬂﬁ%’l’i‘ e ® SUsT A &
(1) Total thickness of slab including cover CER Hl%ﬁ ‘?ﬁfl"é;
eI ] %ﬁ‘e‘ﬂ%

i2i Width of beam in comiression zone

(4) None of these

w3
2 W

The rise and fall
provides a check on:

(1) Back sights
(3) Intermediate sights

method of

The process of mixi
beginning of the fj

(2) Borrowing
3) Inltlatln

In the

(2) L/60

units of viscosity are:

(4) m* sec

1) kg sec/ m?
(3) Nsec m?

Hydraulic radius is equal to:

ili Area divided bi the siuare of the wetted perimeter

(3) Wetted perimeter divided by area
(4) Square root of the area

ENG NEERI NG

A tape of length ¢ and weight w kg/m is su
its ends with a pull of p kg, the sag correction i

ion of levels |52.

ortar in,the mixer at the 53.
oncrete mixing is called:

(4) None ofithese

purlins, depth of angle section should 54.

(4) No relationship

) T GRPAES

2
14 w3 @)

2
o pap? )

24p?

I HAA &

(1) vSATEAET
(3) TeHad! STadIHT

3 ufthar Feawn &
(1) sef
(3) ¥

T

(1) L/ 45
(3) L/50

55. SAMAT Sl &

(1) kg sec/ m?
(3) N sec’/ m®

T A A e

408394182 ik W kg/m R 3 T W F p kg BT |, ITD
BRI oX-Riciiea fear ser 21 e dmee @

12?2 w3

2w?
24p3

2
@ 5 @

T & AGHOT H IHY AR G QY 7 R o Fre

(2) SEMERIET
(4) 3 af

T 99 Fahe g $ ge ¥ PR ¥ 38w & Pem

(2) ST
4) T & B3 A

IRl @ oS H, | ge # TN Fr @ A T A

(2) L/60
(4) ®E Hey -

(2) N sec/ m?
(4) m®/ sec

56. A e 1 % SRR Al &

(1) T o & ot /@ fawfm 8=
(2) foaa o @ foenisa &=

(3) &7 9 fawivra fe ufRwm
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57. The first stage of natural process of sludge digestion is:

(3) Alkaline fermentation

(2) Acid regression
(4) None of these
58. On wetting, cohesive soils:

(1) Loose permeability
(2) Gain shear strength

i3i Loose elasticiti

59. Setting of Laminscate transition curve is done with:

(1) Perpendicular offsets (2) Radial offsets

(3) Deflection angles

60. Arow of rivets parallel to the direction of force is called:

(1) Pitch (2) Gauge distance

(4) Edge line

61. The effective depth of T-beam is the distance between
the:

ili Centre of flanie to the toi of tensile reinforcement

(3) Bottom of flange to centre of tensile reinforcement
(4) Top of flange to bottom tensile reinforcement

62. According to Rankines formula the minimum depth of

foundation should be:
N[@
63. The most economical section of a trapez

P \1-sin®@
3) £[1+ sinOJ2
ida nnel is
one which has hydrulic mean depth equ
1
depth and breadth)

W\ 1-sin6
®) % x depth x breadth
S on main survey/lines is:

(4) None of these

64. Alinejoining some fi ti
(1) Check line

(3) Tieline (4) Cross,line

65. Which ofgt ing instruments is used for spot
speed meaSuremwent of a vehicle?
(1) fficro€¥ppe (2) Enoscope

( cope (4) Stereoscope

which of the following, kerosene oil is used for its
aration?

1) Emulsion (2) Slow curing cutback

(4) Rapid curing cutback

67. Which of the followings is measured in a CBR test on soils:

ili Flow value

(3) Tensile strength
(4) Compressive strength

58.

AU I B gl TR P UERll e ¥
(1) o1 fepoe (2) ST TS
(3) & fpuaw (4) =™ q FE 7

STETHTT BN W, G Hand:

(1) IR & 3

(2) AYEUT THS § A 2

(3) Ul 9 B I B

(4) ST SO | HH P dl &

famsht €FAT 6 1 ST T B |

(1) F9MIaY Sfaae i

(3) e T

T & R $ TR Rae

(1) AR

(3)

T-8X %l T[T

(1) W P F BT

(2) T AH T A & B qB
®3) T, 99aT & % 0%
4 BT AT MG D Tl T

3 AR M)# T s FrargEr S

T el \2 P (1-sin6)?

41)82P %2 ) W[1+sinej

o' 25 (@) ¥ & 3 T

I JaifedT & qaites PeEdl @ 98 o & e
T WS e N & SR &

W 3 T @ 5 9

@) 5 xTEW xAE  (4) (T e Ferd)

T AT Wl | 3B R R @ siie i @ el &
(1) = @ (2) STER @

(3) Hem® @l (4) g Y@

fFlt ae @ e T T 3 fw B oF ¥ PR
SYHXT HT JAT fpar ST 2P

(1) ¥R (2) e

(3) WA (4) @i

frr & @ foud, @ U 3 R Bed @ @ @ oww
fora T @:

(1) =™ (2) UE G HedE
(3) AW GO FHeah (4) @RI G Hedw
Teret X CBR 9der # fr # & & wrar Smar 87
(1) Y& 99
(2) STEUY e

T g

) 3)
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68. Match List | with Il and select correct answer from the 68.

codes given below the Lists:

List | List Il

A. Abrasion test 1. Durability

B. Crushing strength test 2. Toughness

C. Impact Test 3. Hardness

D. Soundness Test 4. Compressive strength
Codes:

(2) A-4,B-3,C-2,D-1
(3) A-3,B-2,C-4,D-1 (4) None of these

69. A short column 300 mm x 300 mm is reinforced with 4 69.

bars of 20mm dia. (Fe-415 grade). If concrete is M-20
grade, the max. axial load P, (kN) allowed on it is:

(1) 1059.0 (2) 1159.0

(3) 1173.0 (4) None of these

70. The height of instrument (HI) is equal to: 70.

(3) R.L.ofBM+IS

(2) R.L.ofBM+FS
(4) BS+FS

71. A vertical member of frame, which is employed to 71.

subdivide a window or door vertically is:

ili Jamb (2) Panel

(4) Transoms
72. The modulus of elasticity (E) of concrete is given by:

w esome  [EUESENBNEER NG

(3) E=5700mg (4) E=1000 ,fck 4183

73. A given material has young’s modulus E, modu
rigidity G and passion’s ratio 0.25. The rgfio o oung 's
modulus to modulus of rlgldlty of this,m@terfal

(1) 375 (2) 3

74. A block is subjected to nor
and shear stresses 1 alon
This principal Planes igtli

s at right,angles.
6 to o xraxis, will’be

such as:
(1) tan 2¢_‘@
(3) tan 2cp (4) None ofithese
75. eat entricity which a load can have without 75.
nsion in a short hollow circular column
f outside diameter ‘D’ and inside diameter ‘d’ is:
—g2
8D
D? +d? d2
3 ———— 4
@) (4)
76. Mostly used coagulant in treatment of water is: 76.
(1) Chlorine (2) Alum
(3) Lime (4) Bleaching powder

D

73.

e es ¢ x and oy “74.

A §T e e W T4 B
ol | ol Il
A. TS qE 1. femrae
B. HaeW gmed 2. dHE
C. U9@ q& 3. TRl
%._gﬁa“rwqﬁm 4. e wmed \/

(1) A-3,B-4,C-2,D-1
(3) A-3,B-2,C-4,D-1

(2) A-4,B-3, cz

@) T4
300 mm x 300 mm P TF BIe |

- 415 3)  9X B A yERE | arsﬁ'c'M-
2098 & Tt 50 W ATA I R &

(1) 1059.0 ) $459.0

(3) 1173.0 q B T

SUHT B SR (H &

(1) R.L.of BM +BS (2) R.L.of BM+FS

(3) R.L.of (4).BS +FS

e g1, et Ragsht o1 s@™
famivra & &, fad fan s R, weanr &

@) ¥

(4) TR

P SR, FTEgEd (3) Fr ER e A
) TR @isbil (2) E=5700 fck

(%)8%= 5700mg (4) E=1000 fck

T & B SRl 1 9T AN E, 3e ANie G R e
SR 0.25 B1 59 WEE A FoT AGIS B UN T AWE A
ST ¥:

@) 375 (2) 3 @3) 25

TF % B GHHOT X & T@l P G o X T o y GHN
yitea ol ¢ ST uivew 3 ST W@ AT Bl o x o

T 0° A J&A o Frmgar &

(4) 15

(1) tan2¢= ayZ—Tax (2) tan2¢p= ax_ETay
) tan2g= ay‘ix @) T q FE T
g & ‘D’ AR AARE AW ‘d’ B T qg BrEd JErhR
FeH ¥ a9 U R o @ aR St it S @
T 8, T8 o
D% -d? 2 +d?
W 25 @)
D? +d? —cl2
() D (4)
w#wﬁamﬁﬁmwwwm%
1) FRE (2) e
(3) =M (4) AT qEeY
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77. Match List | with List Il and select the correct answer 77.

using the codes Given below the lists:

List | List Il

A. Plain sedimentation test 1. Hydraulic loading ruse
B. Fon- exchange 2. Exhaust of bed

C. Flocculator 3. Settling velocity

D. Rapid sand filter 4. Velocity gradient
Codes:

(2) A-2,B-1,C-3, D-4
(4) None of these

ili A-1, B-4, C-2, D-3

78. The main object of providing a camber is: 78.

(1) To make the road surface impervious

iZi To make the road surface durable

(4) All of these

79. Theratio of ultimate creep strain to elastic strain is known as: ~ 79.

(4) Tertiary creep

(1) Creep modulus
(3) Creep-strain ratio

80. The settlement of coarse aggregate towards bottom 80.

with scum rising towards the surface is known as:

ili Bleedini (2) Capillarity

(4) Permeability
81. The forces which meet at one point, but their line of

action do not lie in a plane, are ca% NEERI NG

ili Coilaner non—concurrent forces N[@ 3

(3) Non—coplaner non—concurrent forces
(4) Intersecting forces

82. Chromatic aberration in a telescope is 82.
1) A convex lens
(3) A concave lenses
(4) Two convex lenses

83. The outer axis of ath 83.

84. the whole volume formed by given
er a given length, the prismoidal formula

lied:

Only when the number of sectional areas is even
) Irrespective of the number of sectional areas being
odd or even
(4) Only for three sections at a time

85. A unit working purely on anaerobiosis is: 85.

(3) Contact bed

(2) Trickling filter
(4) Activated sludge process

TR GE P A gaa w9t 3 AR Re

HIS H AT F g el I H o B
el el

A HE FqEET GOEE 1. E6E R

B. M-S 2. AER 4 Fremtaa
C. & 3. GBI

D. w®@Ra sy e 4. T FEOw

Pie:

(1) A-1,B-4,C-2,D-3 (2) A-2,B-1, c3
(3) A-3,B-2,C-4,D-1 (4) 8/

IR U I H G TS B 8

1) awa%wgaﬁauﬁaaaﬂm
) maﬁmaﬁm
3) ma?rtrﬁr%w%

4 3 asft

gy fgla @ i F FIIC FEART o:
1) frder arggw (2) fargder otiss

(3) foredor A (4) T fa|der

WH TP elfd A Taqs @ fww §

(2) BB
(4) UTETRIT
% {ggv e ¢ I o BR e @ e
FRER WP
( STHMH T
4(1;8Wf Yl
(3) STEHGRIT STHTH 97
(%), vt 9q
AT F quf e P 1 TA % geET 9 &
(1) STd 9
(2) HYH 9 I qYl e qE
(3) aaq w9
(4) q Iaq ad
ReEiee # Tl 9" A &
(1) G &R H
(2) gam ot

(3) &foeT sigifhd g & 787 | oA Al o
(4) PSR # dum X

Pt f g W9 W Ru gu &St aw fitle oof e @
e F7 & e Bl g1 arg R s e e

(1) Fad ot Tale G &=t H GE fawm &

(2) Fad ot Telh ST &l H G 99 o

(3) W & G & H de o & A '

(4) T T ¥ Fad 9 @l & g

TRERIRE T fgE &7 & 30 &0 ao o 9
(1) AT (2) et ftheex
(3) FT IS (4) Uides @ aiea
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86. A contour line: 86.

(2) Can split and continue in different directions.
(3) Can split but continue in two directions only.
(4) Can split but has to return to meet again.

87. A pile is embedded quite deep is a clay stratum. The 87.
clay has a cohesion of 3.5t/m% The ultimate point

resistance of the pile will be:

(1) 19.6t/ m? ﬁ 24.5t m?

(3) 21.0t/ m?
88. Match List | with List Il and select the correct answer
using the codes given below the:

88.

(Organism) (Disease Transmitted)

A. Bacteria 1. Infection hepapatities

B. Viruses 2. Amoebic dysentery

C. Protozoa 3. Paratyphoid

D. Helminths 4.Gunica — worm infections
Codes:

(4) None of these

(1) A-1,A-2,C-4,D-3
(3) A-2,B-4,C-3,D-1

89. Bearings are provided in bridges, in order to: 89.

1. Distribute the load from susperstructure on a large
areas and to transfer to piers

2. Allow the grid order of the bridge to taken a free
angular movement at the ends Rl

3. Allow free movement of girders due to t ragur
variations. 3

4. Prevent excessive damage to the bridge if a@y pie
sink slightly

Of these the correct utilities are

(1) 2,3and 4

(3) 1,2and 4

90. A CPM network is to be drawn

(1) Activity sequencing with
(2) Least direct cost duraji

c&' : 90.
our@e availability

91. ini i f thickness “of elements in
i s of their outstanding length has
prevent:

iZi Bearinﬁ failure

ight of a rail and its section is decided on the 92.
basis of:

91.

failure

) Heaviest axle load
(3) Depth of Ballast

(2) Maximum permissible speed

93. Concentration of fluorides desirable in water is: 93.

ili 1to2 mi/Iitre

(3) 10 to 20 mg/litre
(4) Not more than 250 mgl/litre

He @

(1) Tl 78 w© g R R Rt

(2) fafoea & gl @ ol faft framadt

(3) fafaed & Tt & e Faw A st ¥ 9 ® Tt &

(4) fafee & aebal & AR O few & g e & @
SNl

TH URA H i € B 954 T WS A 7w B
P HET 3.5Um B1 U H AR B oA &g S
(1) 19.6t/ m? (2) 245t m?
(3) 21.0tm? (4) FH 9 \
T W G D qE ghAea 9 Ry ™
HIS F AT F g Fqel I
: & RELEIR]
. . FfeER
§-TIPIES
4. TER-HH HhHO
(2) A-3,B-1,C-2, D-4
(4) FTHT B T

o, & e

U & S W R, dRd BN W OB W YR
TEFERIMAL &

43) 8 FTH A NFEAEl % FROT T & o e Bl e A

4. (AT qE TEE ST & AN G B A JRA

EEIS!
T 98 SEFET &
@)¢2, 3T 4 ) 1,2 3
(3) 1,27 4 @) 1,2, 374

Hidie Jeas 1 W RER w@ gu sifea R s @

(1) GEEN @ Sucedr & for fhamearg sH-frator

(2) PRl & [C gAa9 S A sarEl

(3) Framdl % [T Frfed Fo TG Sy

(4) TAH OTI-S PRI & [T Hored S I
frem 3 U Framhedl 1 sHH-feiRer

e § qel N g d9R B ol § del W A #
T A e A @ R Rffs B mr @

1) fe=me (2) ST T
(3) T T (4) WFE @A

ol YT au IS Al §@vE # WX reiea § d Beas
MY W 77 fn o &:

(1) T&M TR 9 (2) st TgRa TR
(3) T H TETE (4) ST &+
I ¥ RENESH P ASAT aBg Bl 8

(1) 19 2 mgllitre
(2) 1 mgllitre & ST &
(3) 10 § 20 mgllitre
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94.

95.

96.

97.

98.

99.

100.

102.

The water content in the soil is:

(1) Ratio of volume of water to volume of soil
(2) Ratio of volume of water to volume of solids

i3i Ratio of weiiht of water to volume of soil

Moment Distribution method of Structural analysis is
applicable to:

(2) Stable but statically determinate structures
(3) Unstable but statically indeterminate structures
(4) Unstable but statically determinate structures

In a CBR test, If the CBR value at 5 mm is greater than
that at 2.5 mm:

ili The hiﬁher value should be chosen

(3) Average value of the two should be used
(4) None of these

The ratio of the total elongation of a bar of uniform
circular cross-section produced under its own weight
to the elongation produced by an external load equal
to the weight of the bar is:

%

The ratio of the total elongatlonl-__emg tﬁEethr

cross-section produced under its own wel

2 1
(4) None of these

elongation produced by an external load equ he
weight of the bar is:
In a restrained rectangular slab d to fa

uniformly distributed load, the yij I rm first:
(1) Along the shorter span on & ace of the slab

(2) Along the longer span ed face of thesslab

inforcement
f the cross section of beam

late girder design, the rivets connecting the
flamge angles and the flange plates have to be

esigned for:

(4) Bending and shear

(1) Bending stress
(3) Double shear

Plain cement concrete is strong in taking:

(4) Tear stresses

(1) Tensile stresses
(3) Shear stresses

94.

95.

96.

97.

99;

100.

101.

102.

a1 & fieT o @

(1) & & AFaT § a1 & I H A
(2) &9 & AFAT 9§ W B AIAT H AIAA
(3) S & a9 § YAl & AFH B AU

(4) S & T 9§ SF B AT H AT

Wﬁsﬁwaﬁwﬁﬁmﬂq@ﬁrsﬂﬁﬁm
1) ReR frg Wftea: aErl @6l ©
(2) Rex frg Qfta: Farl d@x=mmel ®
(3) aReR frrg Wifder: aAERl EReT

(4) e g e Fafl @
CBR T® & 3§ CBR & 9H 5mm & e
A T &
(1) Fa A9 A =AY
(2) ST gE BT
(3) &I AR Sl
(4) T & B
B 3 WX P SEVIPEN Sed S & i
m TF_FAE JAPR AP BE § Th
1 FPIE oRT 2
@ 1
(4) & q B T
W%mwﬁawwmw
@W%w%m%wwa@
S AffHTeT F ST 3
W 2./ @1 ® 35 @5
T &9 @ AR 9% @ o 0% Fries IR we §

W ¢ S ¥ R

(1) W & ARG A W qYR gy & qr

(2) &9 % AR STHT W A(eH T=il gl & e
(3) WY MR R W3S F Hi=wad W

(4) W B ARG TR Bl B7% ABT B I

MY Fishic 3fa9d § Y&V TR (shear crack) & JEROT
amia 2

(1) T Yea

(2) TG yaa

(3) STUETY FEa

(4) o & ATHY PIE F HHEX T

@ We Y At § w o ok W el B e
et RS B afrplead HET ggar =

(1) F view & fom (2) T BT % fog

(3) WX YT F W (4) FHA M FUEWT & for@
T Hive pie 7 A § age & @

(1) T gfcee (2) Hde foea

(3) STUEIe i (4) Faemer ufdea
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103.

104.

105.

106.

107.

108.

109.

110.

111.

The type of surveying in which the curvature of the
earth is taken into account is called:

(3) Preliminary surveying

(2) Plane surveying
(4) Topographical surveying

A simply supported beam of span ‘L’ carries a
concentrated load ‘W’ at mid-span. If the width ‘b’ of
the beam is constant and its depth is varying through
out the span, then what would be its mid-span depth
when design stress is ‘f'?

6WL
bf

A column hinged at both ends has a crippling load P. If
the central deflection is made zero by providing
suitable support, the crippling load will be:

(1) 16P @ 4P

(3) 14P (4) 1/6 P

6WL

3wL
— (2
O

4 ——

@) 2bf

The thicsotropy of soil is the phenomenon of:
(1) Thickening of soil particles with water

iZi Cohesion of soil iarticles in oitimum moisture

(4) None of these

The impact of a sewage outfall into a river can be

assessed by monitoring: ENG NEERI NG

ili Ammonical nitroien, ihosihorus, fluoride |

(3) Chloride, alkalinity, hardness & sulphate
(4) pH, turbidity, conductivity and colour

ma@imum if
ide of weir lis

In a broad-crested weir, the dischar
the head of water on the downs
......... the head of water on the

ili Eiual to

A beam of length (I+
overhang ‘a’ ongfea

concentrated |
between the twiﬁ

A po, 20 kN acting at the quarter span point
si y supported beam produces a central
of 2 mm. For a central load of 40 kN, the
ion at the quarter span point will be:

(2) 8 mm

(4) 1mm

pports,‘I'aparts with an
jdle. The beam™€arries a
each end. Thevshear force
ts is given by

@) W @) 2w

Mohr’s circle for a direct shear test could be drawn:
(1) At the beginning of the test

iZi At the intermediate state of test

(4) At no stage of test

103.

104.

105.

106.

108.

109.

110.

111.

qagor ) i Ped gelt f aEa B oW ¥ @ S @
e &

(1) ORI FEoT (2) THaE qIET

(3) WRiE @IeeT (4) TIApIS TAET

L fogitr & & @@ omaRa T TEfaia | W’ daisa
IR T&T B 21 IR G A D’ Ao TR A M gE d

o 7% i TeNg aRadl o of gE A
0 N St SifreeT Hfoew 7
6WL 6WL 3WL &

1) of 2 3)

bf

2bf

T & o AN Rl W ﬁ@wﬁhmp%

e STaIEH T oW B g & R s

ar el W) 8

1) 16P @)4P

(3) 14P 1/6 P

o A 9 uReesT &

Q) T & HOT T TG

@) T T FF TG

3) e, S, geen ik § & B, § ga
1 4 $g, T

AN/ ¥ e R @ dEm @
BT 3

3§ 4(1)g STAM-EEH, BEHRE, FJARES 3R FRa

(2)( DO, BOD, FiwEd MPN X Agge-N
(3) HINZE, &R, FERAT AR Tbe
(4, pH, T, AR AR T

% =i ReR fR ¥ ofteed fFeRe dar @ Ak R &
HAPEE H SR 5 B RER FER & qi J@m @ o o) @

R 3
(1) SRR & () T foeE &
3) a-fer © @) F-eE ¥

(1+2a) T8 & T 9 F | FH qAE B SRR OB R F
RS ‘a’ F WAL B 99 B TS R W @ IR W R
QA S B AT ST I T F Bhed a/ S S

1 ™™ (2 05W (3 W @ 2w

TF T ARG EOT F A FER 7g W HERA 20 kN
P &g A% 2 mm F1 3T SUA FHIA 81 40kN B
FHY X & fe e FER §g W) g@e

(1) 4mm (2) 8mm
(3) 2mm (4) 1 mm

TE SISO ThEr & U 9 g dien o o &
1) e & g& §

(2) Tdeor & 7y §

(3) e i fqeio oA §

(4) gerer @ fRer o orawen # @
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112.

113.

114.

115.

116.

117.

118.

1109.

If levelling staff is held inclined at a staff station, the 112

reduced level calculated from observation would be:

1) TrueR.L. (2) More than true R. L.

(4) Equalto R. L. of Bench mark
A steel beam supporting load from the floor slab as
well as from wall is termed as:

ili Strinier beam (2) Lintel beam

(4) Header beam
Rivet value is equal to:

(1) Strength of a rivet in shearing
(2) Strength of a rivet in bearing

(4) Maximum of (1) and (2)

A foundation consisting of thick R.C.C. slab covering
the entire area of the bottom of structure is known as:

ili Pile foundation

In singly reinforced beams, steel reinforcement is
provided in:

(3) Neutral zone

(2) Pier foundation
(4) Machine foundation

(2) Compressive zone
(4) Both tensile and compressive zone

In roof trusses, the most frequently used section is:

EERI NG

(2) Two-channel sections placed back to back
(3) Two channel sections placed wide apart

(4) Four-angle sections
@formed

4

A hydraulic jump in a controlled water
above the control, if its original:

(1) Depth is more than critical depth

(3) Depth is equal to critical de K
(4) None of these

Consider, during compgéctign?

1. A constant valyg ofN@ir yéids is reached, at/optimum
water conte ente the density, Is,maximum at
that water €

2. The air ase due to any further increase of water

ence the density decreases there after

conterfyan
Of th stat@pent
( is frug’and 2 is false

re true

(4) Both are false

the theory of bending, the assumptions that plane
tions before bending will remain plane after
ending is made to ensure that:

)
®)

(4)

Stress is proportional to the distance from the neutral axis
Moment is proportional to the distance from the
neutral axis

Strain is zero across the cross-section.

113.

114.

115.

116.

148.

119.

120.

. Of% qaki =% # R ' | W M @ I @ Q)
JEoT & QR T W) SR

(1) gSRL (2) g% RLE s

(3) Y5 RLE A (4) Jau% B RL & SR

ZE H T a9 o B Q¥ ok 99 & far § IR A
IAES Y& B @ ¢, IE FeAn &

1) R Em () T 99
3) T 9 4) T dW
e A 7 & e &

(1) oroeae § Rae & qme
(2) 9rwr § Rae @1 qme
(3) (V)T (2) M gAqH
(4) (1) T (2) N AYHTH

e & wE e T
¥ g AT FBARN B

(1) e g
(3) e Ja

(2) 9@ H g
(4) == g

T e T ¥ Sueesy AT S

(2) Gdre &
(4) T R Gde & aNf

¥, it AgE €S &

) W@ T fEph @
3 4(i)8§as-g@;%ﬂ§r@$fﬁﬂa$

(3)/ T TE I5% W T fa=ma ds

(4)" TIT=HFT TS

e ot & P @ S O 59T 98 S AR SE 0w
@) T wifae =T F s ®

(2) TEE FHifH TR A B9 B

(3) TENE Hifth TS B SN 2

4) T q B T

e &%, % de W 3 R

1. o RiRE ® T R A F<q9 S HET T UEH
ST & R 3H PR S| AT 9X 9N SAfebaT e §
2. o A § iR o gRk B BR |

AR 26 HRT ID & g9 ge S
T FHUE O WA
(1) 1T AR 2T™a e (2) 179q 2 X 28 &
(3) TN T ® (4) A T B
%1 & foeid ¥ 98 Ha % 9% 4 Te 9Haq de 99
% S dHaq e e ghfEa &0 & e @ o @
1) ol e o | g8 & Sguies §
(2) vided FEEA o8 § 30 F SIS o
(3) STl I o & qU & AU ©
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TeyUl: R RN SIIEE T ST SR @ SO S-GRaH 3 7 TG oF e S ST & SO e df R & S

1

T I ForE o FE TR ST N YR @ - S X d, 39 o 6 3EE 120 W9 B 9% 99 gRaw @ R B
BT (7eT-gR FiS e ©d ue-gRad fadSt 1 6heT)) R OMR IR URER W ®El We-gRaw e wd ued-giad dis we
forem 31 O a8 f wE & B g B dedt otear o Beer i B #0881 AR D R @ BE N D O v @ gl #)
AR 57-GRAH TR TF T4 RGO ol 39 Hew § R o TR A #iE R W AR 7 i R T8 B s

TeEq A AR, IR I el & ge-gRaw Rlet T se-gRaw e e $ @he @ gedih i e o SR o0 ..
IR B W wE yeT-gRa Rls o geT-gRaE dis den foe wew 3 4 Rl uh § o el 89X STuen SOH.SIR. I
e & i 81 SO, I e § AR e Hen T ae-gRae e T e W oot 3 I e @ g
ST forerht ForeTd T arvadt @ e

TG SR $ T 1/3 TS FHT oM TAF 9 3 of T 81 Freqa STt & T ST e @ ofadeE Bl

FA-FEE § U RT-TF W SRR a9 HEM| IS A SRR e HEET QO Suel qEar € &T  A

TE T JEI e B gl B e 9@ w9 F Y B (1) ¥ (4) T 9) TEId S R B oud e & S
AR, I 0 7 Y FRy & oigar Rfed Hivl oow S 5 gRa 7 7 @

/949 ¥ SHH

TR, T U W A B B R AR/ A G O @ e o UG ITX IR W Sl 31 N, &9 4 a9 AR /FR 9
qEe 0 § WX 0% IR RU TQ IR B I&@ T8 N e

TI-T T 7 af G $A B 7 & IR el o) &1 e ok @ @ 5@ AR

I, TGS, AR, IR G A 5 R DS A b wF R N ot e v o T A B
TG P g # Rl W @l wE A R S SR, of TR, SR IR W R MIRE B A B R o &S W3 H @
AT T B

qE S FH & USE U T Se-GRAEH Ju Su-uRin e H A §
F qhE F F AT A T AR & QA BN TG S B

T £6% AT ST/ OMR SR TR

10.

B T 99 @ [T Pa Th & I SR Y TH 9 AR I 3N W U A T R Sat # B W BT O AT A
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